Derivative Pules

85 6 If /(x)=x, then f/(5)=

A) 0 ®) %

Q2 4 X F@) == +x+1, then f(=T)=
X
(A) 3 (B) 1
88 15, If f(x)=+2x,then f'(2)=

1 1
(A) 2 (B) 5

3

B 1 ok F(x)=x2 , then f'(4)=
(A) -6 B) -3

2
ij 24, If f(x)=(x?-2x—1)3, then 7'(0) is

4
@ 3 (B) 0

a1 1
gs 23. E('—:;—.“;-FXZJ at x=-1 is
X

Ay -6 B -4

® 5 ® Z
D) -3 (E) -5
D) 1 E) V2
® 6 ®s
® -2 ® -
®) 2 ® 6

? *
g{ 2. If flx)= (2x+1)4 , then the 4th derivative of f(x) at x=0 is

(A 0 (B) 24

(D) 240 (E) 384
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B I f(x)J'f% forall x=—1, then f'(1)=
’ X

@) -1 ®) -% © o O) % ® 1

€ =

?; 2. If f(x)=xv2x-3, then f'(x)=

(A)

B)

©

®)

(E)

@ 10. If f(x)=(x-1)?sinx, then f'(0)=

(A) 2 ® -l € 0 ® 1 B 2

)
’?3 8. If y=tanx—cotx, then EJZ=
dx

(A) secxescx  (B) secx—csex (C) secx+cscx (D) sec® x —cse? x (E) sec? x+csc? x
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?? 7. %cosz(f):

(&) 6xsin(x’) cos(x°)
(B) 6x%cos(x*)
© sin’(x))
D) -6x2 sin(x*)cos(x’)

(E) —2sin(x*}cos(x’)

. - | Z
% 28. If f(x)=tan(2x), then f(6)

A 3 ®) 23 ©) 4

(D) 43 V(E) 8

18 16. 1f r(x)= sin (e—x ) then f'(x)=
Ay - cos(e"’é)
(B) cos(e ™ )+e™*
(C) cos(e™)—e*

(D) e Fcos(e ™)

(Ey—=¢ "ctoste)

82 12. If f(x)=sinx, fhen f’(-;[):

1 1 V2
A) —— 1
(A) 5 (B 5 (C) 5

(D) BN (E) 3

. 2
3 18. Ify=2cos[3f-} then ET——‘J—/= :
: 2 dx:z

(A) —8cos(-;‘-J B) -2cos(§J (©) —sin(gJ

=
1‘1 _)

(D) —cos[g-J (E) —%cos(

X

15
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% 4, If f(x)=x+sinx, then f'(x)=

(A) 1l+cosx (B) l-cosx (C) cosx
(D) sinx—xcosx (E) sinx+xcosx
?3 9. If y=cos’3x, then P _
dx
(A) —6sin3xcos3x (B) -2cos3x (C) 2cos3x
- (D) 6cos3x (E) 2sin3xcos3x
?5 18. Ify:coszx—sin2 x, then y' =
A -1 B 0 (©) —ZSih(Zx) : (D) -2(cosx+sinx) (E) 2(cosx—sinx)
é&' s’ en f 7=
@ 2 ®) = n
: = I T
2
q? 31 If ,f(JC)=€’3In(x2). then #'(v\=
31!1():2) 3 3]11)4:2
) e B S0 (© 6mnett) @) st ® e

X

3 15. If f(x)=e®™ then f'(x)=

&' ( A) tan? x

e
(B) seclx e’
| (C) tan?y gt® 1
(D) 2tanxsecZy et >

(E) 2tanxe™’ *
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2 8. If f(x)=In(e?), then f'(x)=

A 1 B 2 ©) 2x ®) @) 2672

2x '
Q3 76. It f(x)=5—, then f'(x)=
2x
A 1
e¥ (1-2%)
252

®)

(C) er

D) e (2§+1)
X

e?* (2x-1)
Zx?

(E)

x—-2

3
gy f(x)=(xr~1)5+32 , then f7(2)=
8¢

3 7 ) 3+e
(A) 1 B) > . 7 3+e
(B) > < 2 (D) > (B) >

—“g ax
®) — ® = ©) 2 ® 1 ®) 2
€ €
8 11. ——d—ln[-l——J—
dx \l-x
&C
W ® —— © 1-x © x-1  ® (-x)
-X x=1
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Ifyzxzex , then —dl:
dx

(A) 2xe* (B) x(x+26x) (C) xe™ (x+2)
@) 2x+e* (E) 2x+e
_Inx P
g 6. Ify= . ,thendx
W = ® - © 2l o I L
X X X X X
gg 3. I F0)=In(Vx), then f7(x)= o
2 1 1
@ -z ® - O - o5 ® 2
2)&:E *
€ 17 1If f(x):xln(x2), then f'(x) = |
&
= (A) 1n(x2)+1 (B) ln(x2)+2' (©) ln(x2)+-1— D) L ® L
X X X
¥ & I /(x)=¢", then In(f’(2))=- B
Bc
1
(A) 2 (B) 0 (©) = D) 2e (E) &
T3 1 If f() =, then f'(3)=
oL
1/x I Yx —
A) e i (B) __,ell‘x (C) ex (D) ex_z_ (E) :}C-e(l/X)I
X
23 31. If f(x)=In{lnx), then f'(x)=
X 1
1 i Inx
@ - ® — © = @) = ®

|G



mohyuddin_n
Rectangle

mohyuddin_n
Rectangle

mohyuddin_n
Rectangle


d

43 2. -d;(z")z

@ 27 ® @

- x-1 ...%J..C_
©) (252 D) @7 Hm2 (B 2

2100 en F_
gg_l(}. if y=10 ,thendx—

2 . 2 ¥2.2
(A) (1n10)10(* 1) (B) (2x)1o(" ) (C) (x2 ~1)1o( )
2 4 21
D) 2x(1n10)10(" ) B *(In 10)10(x )
2
) ) _x"=2 o
5 10. What is the instantaneous rate of change at x =2 of the function f given by f(x)= — 7
| ! ! 2 E) 6
Ay -2 - (B) P © 5 D) (
Jx? +8
21, The value of the derivative of y= atx=10is
g \4,’ 2x+1
1 1
a) -1 (B) ) <€) 0 (D) 5 E) 1
«& 4. If'u v, and w are nonzero differentiable fimctions, then the derivative of %~ is
w
8c |
A) uy' -I-,’u’v ®) u’v’w—; uvw' © uvw’—uv’;v—u'vw
w W | w
(D) uvw+uv;v+uw ® uvw+u1;w—uvw
w w
39. If y=tanu, u=v~—, and v=Inx, what is the value of ¥ at x =9
6? . y =1a us - v L] 3 dx
)
2 2
) 0 ®) L © 1 o 2 E) secle
e

19 19
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?g’ 8. Let fand g be differentiable functions with the following properties:

i g(x)>0 forall x
i)  fO)=1

If h(x) = f(x)g(x) and A'(x) = f(x)g'(x), then f(x)=

A) f'x B) gx) € & D) 0 E) 1

QF 5. If f and g are twice differentiable and if h(x}=f (g(x)), then A"(x)=

Bl
@& (g@)g®T + 7 (g)) ")

®)  f'(g0)g @+ (8)g"()
© (g@)g@]

O (g2

® f'(e®)

d
?3 18. ax—(arcsian)_—.

~1

@ : B - 0 —!
2V1-4x 4x? -1 © 142
~
D) = 2
E
1-4x? ) Vax? -1
§5 20. If y =arctan(cos x), then &
dx
(A) —sin ;c . 5 :
| It oost o (B) ~(arcsec(cos x)) " sin x (©) (arcsec(cos x))’
® —r __ 1 |
(arccos x)” +1 ®) 1+ cos? x

X0

A0
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